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PHILOSOPHY

( Honours Core )
Paper : PHI-HC-2026
( Logic—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

@es AP PR Seq fin

(a) Modem logic is completely inductive /
deductive / both inductive and deductive in
nature.

( Choose the correct option ) )
i HRwm e e/
R / S W P Ty |
( = Rewesr AR Bferear )
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{b)

{c)

{(d}

{e)

t2)

Phonograms directly stands for
{ Fill in the blank )
FiErRe Pe2 fere ____ Rot I |
(< 512 7@ 11 )

According to the modern analysis of
propositicn, a proposition is either true or
false / both true and false / only true.

{ Choose the correct answer )

o HER ReRT PR, 0w T
S} [ TS G ] SOER [/ (39 He |

(0w w1 Shiea )

Give one example of implicative proposi-
tion.

FiRens T 9 Wﬂ fiar

Which logical connective is called monadic
connective?

PFG S WEETD T BemmRRE

RS ORI =Y

{1
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*“Either it is raining or it is snowing.”
Symbolize this proposition.

T W R R W AR wm
TGO AT TS 2P 247 |

{ Continued )

{g)

(h)

(i)

G

24A /572

t3)

Truth-table method is a decision
procedure / proof procedure,

( Choose the correct option }

sor-eierE e o AT omfY / o Ete |
(gﬁﬁﬁﬁzﬁtaﬁ%ﬁw)

In shorter truth-table method, a given
argument is assumed to be valid.

{ Write True or False )

v Foi-Sif caee Tient (Y 3 4R e
= |
: ( 5 G SPTes v )

pP2qg

gor
AL i)
What is the name of this ruie?
«% Tt o 2

Can formal proof of validity prove the
invalidity of an argument?

HRIRE (ST oW wRE e WIS a
IR NA F?
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(4)

2. Answer the following questions in brief : 2x5=10
Toq 2%CET By G fira

{a) Define compound proposition.

@ Ioe AgE

(b) Mention two differences between traditional
logic and symiiolic logic.
PSSR OF SO S REET
e Ko! N4 SeE ¥4 |

(c) What is variable?

B 31 oS [ 2

(d) State two dissimilarities between indirect
- truth-table method and direct truth-table
method.
AT TG-Sl TS S 2ers Foy-wifewr
*@oq AS 01 CPIPD Sears 64t |

(e) Bring out two differences between singular
and general propositions.

GFF S I 69 e 561 2A1ef Shieat |

3. Answer any four of the following questions :
) 5%4=20
Coq 2P & @I SiReR Sey fa
(a) Write a short note on the uses of symbols in
logic.
@ d8ed AR fww @b sy G
feram
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(b}

(c)

(d)

(e)

()

(S

Distinguish between logical constant and
variable.

S FTP I 5o < 77

Write five rules of inference.
SIE 1561 3@ ford |

Mention five differences between simple
and compound propositions.

9 SF QT 659 S SA1o6! S SEe
90 |

Write a short note on modern square of
opposition.

R wfe wfcras Racr <61 o5 G
foran |

Write five characteristics of fomal proof of
validity.
PR (AT AT #oT (AfEs o |

4. Answer any four of the folloWing questions :

10x4=40

TES 2PPTRd R G BIRGR e e

(a)
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What is proposition? Explain the
classification of simple proposition with

example. 2+8=10

57 5 2 SRR Si9e o9 CAiReTem
39 |
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(b)

(c)

(d)

(e)

(6)

Explain the modern classification of
proposition. 10

o= e cEReTes I <4 |

What is symbolic logic? Discuss the
characteristics of symbolic logic. 2+8=10

AP WREm 7 aSene wWRems
MBPTR e 9 |

What is logical constant? Explain the basic
logical constants with the help of truth-table
method. 2+8=10

oy T {2 Te-ubRl e FRRe
o S FaFITR TP 40 |

What is indirect truth-table method?
Explain the process of the application of

: indirect truth-table method with suitable

24A /572

example. 2+8=10

AT TSR S 9 e Trmr
AEARE TOI-CIEF ARES Aeaet FoegE
74! |

{ Continued )

(1)

(g)

(1)
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(7))

Construct truth-table and determine the
validity or invalidity of the following
arguments : 5+5=10
wey-wifeE o FR TR IR FEe @
Iyl e 39

{i) p>q
~q
=D

(ii) =X
gop
q

What are the strategies for constructing
formal proof of valdity? Construct a formal
proof of validity for the following : 6+4=10
(AYO[ AP WP 5107 (PR 5 62
e fai IEOR ReoR AT WS 916
9l :

ADB

Av(Bv~C)

~B /i~ C-~B

What is formal proof of validity? Discuss the
rules of replacement. 2+8=10

goRe Qe amT [ afdrrrR R
SCEATs=l 9 '
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